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Language Sanskrlt

Paper U - DASHAKITUARA CHARITAII (6tt UCCIMSAI
GRAMUAR AND TRANSLATIOII

Tine:3Hoursl [Max' Matks:7o

hlstntLtiona to Condidates :

1) Q.No.IotuJW shoutd be dtLsueted in Sdn'skit

2) Atts'tuer in Satlsfttil/ Kanwda/hrglistt

L s{*fl sd{ ft-Jdr (1o ,. I = 10}

Select the correct answer :

ioqlDd suidddlt Al add)o:

1. q{g'q{qfrd fudgE-sRd 6fu{ sqiR q-4ft?

(a) tdd F) {EeI

(.) qd (d) q€q

_ 2. ft-*gg, g lnsnz

(a) fi:rd (b) oldg{

(c) qrqnTE=FR ld) rxg(

e. gq e-<t ed oi qeanz

(d q€qqfr+{ b) frazsrfr*{

(c) Gqrdqqrfu+{ (d) - s€qrfufr{

4. r5r oQi c-4fr?.

(a) A{{ tb) ffqFd{

o gqwrq-{q (d) 4rq:
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5. cf)S<l)tcnq: attrt1 -llt.( yq(q i

({ Erd

(c) verfuqr

6. d\cr{qs ffatqr' tr+ fuq?

(a) qftrdfr

tc) rhtufi

7. 1fto: ffitrq frii trqftz

(a) fi
(c) <rqsr:

s. atrffiga3TR?
(d ctlg

(c) s}tlPg

9. .F5E5.]RTr: ffqor: o: ?

(a) o\srqrs:

{c) *qEqr

r o. o-{oTdt dsofdril q stnT{E?

(a) {ftad{ b) ,ftdqrrfq

(c) EqFh {d) l3qTrq

rI. dd: qqTd: st{ ftstt 12 ' rO = Nl
Answer a-ny TwO questiods :

add: Jrdri€rt ou30,1 :

1. qtreq: dq-ora-gfrftnnR 3Tfu?-q r++i ftqqr

Wiite an essay on place, works, date and life ofpoet Dandin.
doAob ded. 6Eo, d.rgriddidrbdJ €,ood odosJA

F) qrqftR-{qi

(d) or*{qt

(D' q5\J.11

(d) qtufr

F) qss

1a) ofals

(b) .qFqqr

(d) ft-rgH:

(b) 4Fr:

(d) 
'JE
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z. dR-+ Cfl<i sufu.dr

Nairate the story of Gomull
rtroesroob JdeodJdl JrdF.1O.

g. ftrSF|g qF{i alfs-dr

Describe tlle adventure of Mitragupta.
tugrrbqd -adnddr d€dF:o.

In. T€rtrrq 3rJqrE gF-dt 
F x 12 = t2l

Translate the following prose passage :

rld{rqtorl;d) (rd);dA} :

enFrlq qero) frrqfq T{sfrro{ scrftE{r srriq q oTfu{fl{l gqds e \rr{ a-q;6 EfrF-.etdqTdq ,Tr-dgc.[d6rd9a flqr r+q]qrfrenr areii]-q ,,*sr + qM€qT qR_d qi €{ {q
sd'ftr {q q + "ffEeqqCcor qisg.rlT Ecgis frrqoi w,r q q RTwrfr srqERfr 3rSC_{
qmqr"R-gqrl

3left /Orlqrd-D
. s 1 qFnqe6 _ ,'rr ! trq€r\ qN o_dqq _ FT€ qss+={ wvs {atj q, €frldrdffiEwtFq - ,!rE ! ffidqqufqrqiTt I cddsft 

"ra".dg <qruTr qrq{qT{t
efi g I iRe gqul gufrovorwi arqqi d-dsd+{qdqq _ eqqeff,
gftrr

rv. d' dCM fre-dr lz,2y2 = sl
Write short notes on any TWO of the follou.ing :

oj$goadd.o ndddldrbdr tjddrd oddJA :

t. ercqfuoi

2. qqq-lr

,. qfi-+

a. d-sttsnl:
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v. qd' sFqd' s<d ftgEdr {2 x 4 = a)

Anrrotate any TWO of t]le follov/ing sentences :

ndd) -addrlddl:odcjF i&d 5do::

t. q ql€q: o€ftr*T{rqrs€ |

2. 3lidE.q Tn Sq gq rFr Fqql

s. elrrqa t f+rsfiq+1t

+. "r@frwm9Trfr<q"

u. {qar+nurw{1kwot
Answer in Sanskrit.

io-"{d ea{o!O- str"f A:, :

(3{) qrrri ftf6a|{{i ffffs qqmqrq ftr€dt (5x1=s)

2. fi-4qq{

4. sqf6q

6. qd|ql:

.1. {Fqg1:

J. C'rq3?'l

12\2Y.=51

L {rlur qi rrqil

z. erdo: qEi qdftr

o. guiffit

uI. g{ TEiqrq o-*-sqlq-ar 3{|wdt{FIqI sr 3IJ{{dl

Trarslate the following prose passage iflto Kannada or English :

(1 x5=5)

d .iddqroriJdl dd4ddo- ed-a ero{aa{onq rrd)dd8:o :

rqi 3rih sq6 qrqqr, a&r enoreraroft, Fqfi, qtdFTfuot, q<qfu{ {qqq: qgqr:

rrq6 qrqqr: eRr sig Tqcfus 16{ r{rmqRl Ecrfqe €viwo' i.qE qqtd {Ssq' t

qqqaf+ Ae{ui eqgi s'€qdrd+a .rqfrr aqn erqd Ecett cgq{ffs' qqli q flq6 $qq{

5. 3[€q{

7. fi-tSmR-d{

(en) $: r+)'i vRrd+ot

I

qqfttt


